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A.LCM Problem

https://codeforces.com/contest/1389/problem/A
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#include <bits/stdc++.h>

using namespace std;
typedef long long LL;

int main
int t = 0;
cin >> t;
t__
LL 1, r;
cin>>1>>r;
r < * 1)cout<<-l<<' '<<-l<<endl;
cout<<l<<' '<<2*1<<endl;

B.Array Walk
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#include <bits/stdc++.h>

using namespace std;
typedef long long LL;
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LL a ;
LL maxA2 ;
LL tot ;
int main
int t = 0;
cin >> t;
t--
int n, k, z;
LL ans = 0;
cin>>n>>k>>z;
LL tt = 0;
int 1 =0; 1 <n; ++i
scanf("%sd", a+i);
i)tt += alil;
tot[i] = tt;
LL a2 = 0;
int i =0; 1i<n-1; ++1
a2 = max(a2, alil + ali+ c
maxA2[i] = a2;
ans = tot/k];
int 1 = 1; i <= k; ++1i
int rep = min(z, (k - 1) / ;
K ==1+ rep * ans = max(ans, maxA2/i - * rep +
tot[i]);
k == 1 + && z) ans = max(ans, tot[i] + ali- .
k==1+ 1+ rep * 2 & z >= rep + ans = max(ans, maxA2[1i
- * rep + tot[i] + ali- ;

cout<<ans + a <<endl;

C.Good String

OO0 0000nOgood stringd s[i] = s[(i+2) % n] 0000
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#include <bits/stdc++.h>

using namespace std;
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typedef long long LL;
int main
int t = 0;
cin >> t;
t--
string s;
cin>>s;
int 1 = s.length();
int ans = INT32 MAX;

int i ="'0"; i <= "'9"; ++i
int j = '0'; J <= '9"; ++]
int e = 0;
bool rev = 0;
int kK =20; k< 1&& e < ans; ++k
char c = rev 7?7 j : 1i;
skl 1= c) e++;
//else if(k ==1 -1&% 1 =] && (1l & 1))e++;
rev = !rev;
rev & (i = j))e++;

ans = min(ans, e);

cout<<ans<<endl;

D.Segment Intersections

https://codeforces.com/contest/1389/problem/A OO OCO[, rl0000000OXx, ydoooono
oooof,Lrlooog

E.Segment Intersections
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